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 Equivalent Algebraic Expressions |

Tick the correct option N

1) Which of these expressions is equivalent to 2(8x - 2)?
a) 16x + 4 b) 8x+16 c) 16x -4 d) 16x -2

2) Which of these expressions is not equivalent to 2x??

a) 2XX XX b) x2x2 <) X X2 XX d) xx2

13) Which of these expressions is equivalent to 3(3x + 2x) + 307
a) 3(5x) +50  b) 3(5x + 3) c) 15x +3 d) 3+ (3x+ 2x)

4) Which of these expressions is equivalent to -4(2x)?

a) -8x b) -2(-4x) ¢) -4x x 2° d) 8x

5) Which of these expressions is not equivalent to 2c+c-1+¢?

a) 4c+10 b) 4c-1 ) 4c-c¢ d) -1-4c
) Which of these expressions is equivalent to '4—;’?
C
-2(2v) -2(2v) -4v 2 2V
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(1) Which of these expressions is equivalent to 2(8x - 2)?

2) 16X + 4 b) 8x+16 o 16x-4 d) 16x -2

Which of these expressions is not equivalent to 2x??

Q) 2X XXX b) x?X 2 €) X X2 XX W X X2

Which of these expressions is equivalent to 3(3x + 2x) + 30?

a) 3(5x) +50 b) 3(5x+3) & 15x+3 d) 3+ (3x + 2X)

Which of these expressions is equivalent to -4(2x)?

VI -8x b) -2(-4x) ¢) -4x x 2° d) 8x

5) Which of these expressions is not equivalent to 2c+c-1+¢?

a) 4c+10 W 4c-T ¢) 4c-c d) -1-4c
6) Which of these expressions is equivalent to '4—;’?
C
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